Comprehension —13

Read the following passage carefully to answer these questions
given below it.

Ravi Shanker has a large circle of friends and is very
popular at parties. Everybody admires him for his fine sense of
humour—everybody, that is, except his six-year old daughter
Meenakshi. Recently one of Ravi's friends asked him to make a
speech at a reception. This is the sort of thing that Ravi loves. He
prepared the speech carefully and went to the party with
Meenakshi. He had  included a large number of funny stories in the
speech and, of course, it was a great success. As soon as he had
finished, Meenakshi told him she  wanted to go home. Ravi was a
little disappointed by  this but he did as his daughter asked. On the
way home, he asked Meenakshi if she had enjoyed the speech. To
his surprise, she said she hadn't. Ravi asked her why this was so
and she told him that she did not like to see so many people
laughing at him.

 

1. Ravi was popular because
    (a) He made speeches
    (b) He told stories
    (c) He had a good sense of humour
    (d) He loved parties

2. Ravi loves to
    (a) Meet people
    (b) Talk to his daughter
    (c) Make a speech
    (d) Make people laugh

3. Ravi went to the party
    (a) With his wife
    (b) With his daughter
    (c) With his mother
    (d) With his friend

4. Ravi was disappointed because
    (a) Meenakshi did not enjoy his speech
    (b) Meenakshi wanted to go home immediately after the speech
    (c) People did not like his speech
    (d) Meenakshi did not like people laughing at Ravi

5. Meenakshi failed to realise that
    (a) The party was over
    (b) Everyone had been laughing Ravi's stories, not at Ravi
    (c) Ravi had finished his speech
    (d) It was a reception party
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